
Ex-9-C) 
Dote 
Page 

6.7 21 

Uen _numbet 
0 352 diviaible by 2 

)522 
umber Hert he latt_digut 3 h1ch i hat a uen_Aumbeq

So 522 nat divimble by2- 

oG)= Qven_numbet.
96 divisble by 2 

64g)= Ddd numberr 
yg hat diviaible by 2 

22 
229 
R nt olwiu bla_by y_ 
So 222 is nnt dusble by . 

i532 

82 i diLuble by 4 
So 592 a diuaikle bå 

61 
nat diuusible by y_ 
So 678 nat duabl by y 



Dete 
Poge 

u 282 = 

92 dnuble by 
So 922iA diuiaikle by . 

3 824 
Hera 24 a nnt diuiable by 
S 92 not diwible by 

256 2526 
2626 536 a dhnable by 
LSo 2356_divisble hy 9 

2160= 
Hero q2160 divisible by & 
So 9216D a diviai bde by & 

v44T320_ 

Het 444320 diwiaubla by 
So 444220 duisi le by 2 

4 221= Sumsthe dlg = 
2+2+1=S,5) a ndt diuisile by 13 
So 224 nnt dhu19ible by 3 

iS42= Sum a he diges= 
5+4+3= 12 (12) JA divLaible by3. 

Sn 643 dwisible by 



Dafe 
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LR u92= Sunak thear digu 
t9+2=25 (25)A not dvuisible by 

S33492 is nat duiible by- 
u923ug= Sum a thear dig 
t+= 24/2) diusble by 

9234 i diviable by 3 

51232 
uma theur numbera = LE 

+3+3+2 = qolable_bi 2 wiguble by 4- 
So 1932 diviable bu 4 

iDS3247= 
Sum ol thar dig=_ 5+24 2+yA7E Q1n duasible. hy3 et duusbe by- 
So 532UZ BÈ duigble. bu 9, 

l4963= Sum a heur dgti=_ Y+9+6+2: 21,dunible biy3 
duble bs 9 

4aG8 a duiable by 

200314 Sum o honr diqa a+0+01+4=1nat divis1ble by 31s dubl bu So, 200214 p mt diuiuble by 9._ 



Dete 

w 

6 324 Sum a thet diguti 
3+2+4= a_duiahle by3 divsple by- 

Sa 334 A dnable hy6 
010 Sun a hurt digds 

+0H0= 3 diuisible by 2 diusble by6- 
20 IQ) = eRen n= dvisible by2 
2610 diusa ble by 6 

1ie2 33279 Sum p ther dg = 
3++2+7+R= 23 nat diuui ble by 3 ant diwuhe 
33218) = even nn=_diviable by 2 by by 6 

iv55DS= Sum n theic digit = 
+5+5+0+5= 16nat _diviuble by 3 nat_diusbla 
55 odd no= hot diuaibleby2 by 6 
15505 hot divIsible by6 

S0 0= divIsble by 5 
So 603D diuiuble biy S 

666G6= 
GGLA = Not diuisiblo by 6 

So 6666 6 nnt dviable by 5 

15 
156- diuisuble by S 
So 756diuLblo by 5 

I9201= 
9201)= hnt_diLbie by B 
So 9201A nat duwhli by 5. 



0 
99a(0)= duLablo b 10 
Sn 9 O _divblë by 10 

0= divile by_lo- 
So, 0Adlisble bslD 

u E nat dansible by 10 
So 41Anat_dnuaihle by I0. 

i 76 
4 7Enot diuivble by Jo 

Ln 8916 s notdiisuble by 0 

5918= 
Sum odd placo +9: 1E Aebm +herig 
Sum aeven place5+|- 6 

du3lo by 1L So_ 
5918 dwisble by 11. 

Sum ak b digab n HhAld place am the tuyatide 1t6 Suma digt in the_een placern thalelkdes 3t ILaduuble by L_ 
So 681 duuble by l 



Date 

i 3&82 
Sum oh digi n the ddplaco prnn_ tte tght kid=_ 
8+2=10 

Sum n t diqls in the euen pldce pramthe ught sde= 

10-11=L 
So 2882a nnt divsble by l 

Sum digL in the pddplace rcom the right wde= 
++446 
Sum ak it diqib.in he even placerom he ught Nde= 
S+0- 5 

6-5= L 
diwiable by_ l._ 

So 10851 A duigible by 

10960 
9O,0 duisbleby 5 
The sum a4 ih digit E 
+t0 =_15,dinaibleby3- 

ones place 

-duvISIble by 

25 
295)5in tni placeA diusube by S 

Jhe Aum_o ii ohgi= 

+2+9+5= 2a1n aet diuluble by3 by 15 
8295 dvisble by I5. 

End duisible 



Date 

Paga 

103 
023 3 0nt diuisible by 5 
he Aum bdgi 
0+4+B-2 dv bl bs3 
l0243 i nat Aiuibl by l5. 5013 

Enot dviible 

by 15 

hat dvis/ble by_ 15 he aumak i dinaiF 
S+0+l+3: 9 duL ble by3 
So13 a hat dbuii ble by 15 

6+4+3= 13 
M:2- 
13+2=15 
So 64233 

6 M 46 
|4+6+4+6=)0 
M= 
20+ 1=1 
SD HGI46 

i M53 
2+1+5+3 =1f_ 
M=1 
7+1= 19 
So 211553 



8 Dete -
Poge 

() 76 ML 
F7+6+ 9+4=23 
M= 4 

23 4=4 
So16491 

543M
=4+t+5+H+8=31 
M=25 
31+05 361 
S 1545 

621 MA 
=6+2+1+924 
24+3=2t- 
M=3 
So, 62EM4=6A 39 



Date 
Pegs 

-

139M21 
Sum a ho digis in the ada_place ennhe agit Side= Q+=IL 
Sun n the dgh in the n place stom tat.might ide = Me2 DiLrtance= }-(M+32a 

M: 
Sa 3M2 =392g2 

SM422 
m og he digt. in the addplaca aom he rught ade 

2++3=9 
Sum a the digh in the even placek omthe rght zide- 
M+2 
D1aradro= 9-2(2) 

M =1 
So 3 MA422=31422 

11709E5M 
Sum a Hhe diqui in the ouon place puom the tught de= 
5+9+= 
Sum o the digihntheeen plnceucomthe rugt Ade= 
M+1+0= M+t_ 
IOINeconce 1-+(M+A)_

odo 

M 14 
So F0-5M=F01-5I4



(10 
Deta 

Pege 

4M15 
The Sum ok the digii in the ANen place Jtnm the ught side=e 

The m o the dig in the odd place krtam the riaht side S+M = M+6 
Dertance= ll-6(Mt6) 

M:S 
So, 4M15 = 1455 

(143Ea number Ddiusible bå4,it ia diuuible by R, False 
anumber i actor o16and 24,itia lackoc o 4aTu 

Fa number i dLnble bs 13iÍA duyble by Sandá lu 
i adiwudes bandc complstely,then a diuidesatbih-b- 

alb completely. Iruu 

1 

-


